

OFFICE OF THE PRINCIPAL MAIBANG DEGREE COLLEGE

MAIBANG::DIMA HASAO::ASSAM::PIN 788831

(Affiliated to Assam University, Silchar & NAAC Acredited Grade B)

Website https://www.maibangdegreecollege.edu.in

Email: principal.maibangdegreecollege@gmail.com

(m) + 918011522551

To Whom it may Concern

4.1.1 Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, yoga Centre etc. in the institution

The Institution boasts of sufficient infrastructure and physical resources to facilitate an effective teaching and learning environment during the 2023-24 academic year, encompassing a total constructed area of 100 bighas to accommodate 542 learners. The instructional spaces are distributed across five building blocks, dedicated to classrooms, laboratories, and associated teaching tools. Within this framework, the institution is equipped with 16 classrooms and 4 laboratories, incorporating undergraduate (UG) facilities. To optimize the use of available resources, the college has meticulously designed its routine to ensure the efficient utilization of infrastructure and physical facilities. This includes the implementation of effective procedures to maximize the functionality of laboratories, promoting an environment conducive to learning and research.

It is certified that the information provided above are authentic.

Principal
Suijt Kumare Siete College
Maiba Principal i / Casao : Assam

Maibang Degree College Maibang, Dima Hasao



MAIBANG DEGREE COLLEGE

MAIBANG::DIMA HASAO::ASSAM

Website https://www.maibangdegreecollege.edu.in

Email: principal.maibangdegreecollege@gmail.com

(m) + 918011522551

SECOND CYCLE OF NAAC ACCREDITATION AQAR FOR THE SESSION 2023-24

CRITERION IV

INFRASTRUCTURE AND LEARNING RESOURCES

4.1.1: Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga Centre, etc. in the institution

Submitted to



THE NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

Criterion 4 - Infrastructure and Learning Resources

4.1 Physical Facilities

4.1.1 Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, yoga Centre etc. in the institution

Response:

The college has 100 Bighas of land, out of which 8 Bighas of land handed over to the B.Ed college in the year 2019. In the rest of the areas, there are two bighas of land for outdoor games, the college has two Assam type buildings for classroom, exam, lab, KKHSOU etc. approximate measurement 3776 and 4725 square feet, the College has another Assam type building for Departmental common rooms and for office of the Principal approximate measurement 3618 and 1728 square feet respectively. Maibang Degree College has beautiful College Garden maintained by the sub-divisional Forest Department and various classrooms and buildings which are provides several facilities to the students.

The Maibang Degree College has the following buildup area for the purposes: -

| | Descripti | Length | Breadth | Ground | Total | Ground | Total |
|-------|--------------------------------------|-------------|---------------|---------|--------|---------|---------|
| | on | in Feet | in Feet | Area in | Floor | Area in | Floor |
| Sl No | 1 12 00 | Security 19 | = 111 | Square | Square | Square | Square |
| | 501 | s W ter | Historia Badi | feet | Feet | Meter | Meter |
| 1 | RCC 1 | 205 | 33 | 6765 | 13530 | 628.49 | 1256.98 |
| 2 | Science Building | 112 | 34 | 3808 | 7616 | 353.78 | 707.55 |
| 3 | Science Building Under Construc tion | 62 | 34 | 2108 | 2108 | 195.84 | 195.84 |
| 4 | Guest House Block 1 | 40 | 35 11 | 1400 | 1400 | 130.06 | 130.06 |
| 5 | Guest House Block 2 | 60 | 35 | 2100 | 2100 | 195.09 | 195.09 |
| 6 | Grade IV Quarter | 35 | 30 | 1050 | 1050 | 97.55 | 97.55 |
| 7 | Water Tank | 39 | 46 | 1794 | 1794 | 166.67 | 166.67 |
| 8 | Pump House | 16 | 20 | 320 | 320 | 29.72 | 29.72 |
| 9 | RCC 1 Teachers ' Quarter | 58 | 40 | 2320 | 3480 | 215.53 | 323.3 |
| 10 | RCC 2 Teachers 'Quarter | 58 | 39 | 2262 | 4524 | 210.15 | 323.3 |

11 671.13 Assam 43 42 671.13 1806 7224 Type Quarter 4 Nos 1152.18 12 Girls' 117 53 6201 12402 576.09 Hostel 1152.18 13 117 6201 12402 576.09 Boys' 53 Hostel Students 40 25 1000 1000 92.9 92.9 14 Union Office 30 750 69.68 NCC 25 750 69.68 15 Boys' Office 69.68 750 NCC 30 25 750 69.68 16 Girls' Office 36.78 22 396 396 36.78 17 Boys' 18 Common Room Girls' 36.78 18 22 18 396 396 36.78 Common Room 19 48.3 48.3 Canteen 26 20 520 520 40.13 20 Alumni 27 16 432 40.13 432 Office 21 59.92 59.92 Garage 43 15 645 645 near **MDCSU** Office 48.77 525 525 48.77 35 15 22 Garage near Canteen 256 256 23.78 Bodo 16 23.78 23 16 Sir's Memorial 10 54 540 540 50.16 50.16 24 Main Gate 11 198 198 18.39 18.39 25 Security 18 Room at Gate 804 804 3.14 256 74.69 74.69 26 Rotary with Statue 625 1963 1963 182.36 27 3.14 182.36 Rotary in front of Office Garden 21 693 693 64.38 28 3318 64.38 Near RCC Classroom 3 Nos

Self Study Report of MAIBANG DEGREE COLLEGE

10 S S

Self Study Report of MAIBANG DEGREE COLLEGE

| | | | | Sell Study | Report of MAI | BANG DEGREE | COLLEGE |
|-------|-------------------------------------|----|----|------------|---------------|-------------|---------|
| 29 | Garden Near NCC/NS S | 17 | 14 | 238 | 238 | 22.11 | 22.11 |
| 30 | DG Machine Room | 9 | 7 | 63 | 63 | 5.85 | 5.85 |
| 31 | Water Harvesti ng | 11 | 5 | 55 | 55 | 5.1 | 5.1 |
| 32 | Toilet backside Assam Type | 37 | 5 | 185 | 185 | 17.18 | 17.18 |
| 33 | Toilet Near RCC Classroom | 27 | 22 | 594 | 594 | 55.18 | 55.18 |
| 34 | Toilet backside NCC | 10 | 5 | 50 | 50 | 4.64 | 4.64 |
| Total | | | | 63034 | 94850 | 6359.37 | 8811.73 |

| Facility Available | Details | |
|-----------------------------|---------|--|
| Smart Classroom | 04 | |
| General Classroom (Arts) | 08 | |
| General Classroom (Science) | 08 | |
| Language Laboratory | 01 | |
| Digital Library-laboratory | 01 | |
| Science Laboratory | 04 | |

| Period | | | |
|-----------|----------------------------|----|--|
| 2023-2024 | Smart Classroom | 04 | |
| | Digital Library-laboratory | 01 | |
| FF. | Language Laboratory | 01 | |
| 70 | Science Class Room | 08 | |
| 04 | Science Laboratory | 04 | |

| File Description | Document |
|---|---------------|
| Upload Additional information | View Document |
| Provide Link for Additional information | View Document |



































